
Specific Heat of Brass Lab Calculations 

 Trial #1 Trial #2 Trial #3 Average 

Twater, (T2-T1)    
 
 

Tbrass, (T2-100C)    
 
 

 

Solving for Qwater 

Qwater = Cwater x mwater x Twater 
Cwater = ___________ 
 
mwater = __________ 
 

Twater = __________ 
 

 
 

      

 

 

 

Qbrass = Cbrass x mbrass x Tbrass 
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Qbrass = Cbrass x mbrass x Tbrass 

 

 

 

 

 

 
 

 

 

 

Qbrass = -Qwater 

 

 
 
 

Qbrass = -Qwater 

 

 
 
 

Qwater 

Calculating % error 

% error =     your number – accepted number 

                               accepted number 

 

Qwater 

Calculating % error 

% error =     your number – accepted number 

                               accepted number 

 


